

ON THE ABSOLUTE CESÀRO SUMMABILITY OF
ULTRASPHERICAL SERIES

B. K. BEOHAR AND SUSHIL SHARMA

Department of Mathematics, Madhav Vigyan Mahavidyalaya, Ujjain 456010

(Received 9 October 1978; after revision 22 February 1979)

In this note a theorem is established on the absolute Cesàro summability of ultraspherical series of functions of Lipschitz class.

1. DEFINITIONS

A series $\sum u_n$ is said to be summable (C, k) to the sum s , if

$$\lim_{n \rightarrow \infty} S_n^k \Rightarrow s$$

where S_n^k is the n th Cesàro mean of order $\alpha > -1$ of the series $\sum U_n$, and defined as follows:

$$s_n^k = \sum_{\nu=0}^n A_\nu^k u_{n-\nu} = \sum_{\nu=0}^n A_\nu^{k-1} s_{n-\nu}$$

The series is said to be summable $|C, k|$ if the sequence $\{s_n^k\}$ is of bounded variation, i.e.

$$\sum |s_n^k - s_{n-1}^k| < \infty.$$

2. INTRODUCTION

Let $f(\theta, \phi)$, $0 \leq \theta \leq \pi$, $0 \leq \phi \leq 2\pi$ be defined on a sphere S . The ultraspherical series associated with this function is

$$f(\theta, \phi) \sim \frac{1}{2\pi} \sum_{n=0}^{\infty} (n + \lambda) \iint_S \frac{f(\theta', \phi') P_n^{(\lambda)}(\cos \omega) \sin \theta' d\theta' d\phi'}{[\sin^2 \theta' \sin^2(\phi - \phi')]^{(1-2\lambda)/2}}, \lambda > 0 \tag{2.1}$$

where

$$\cos \omega = \cos \theta \cos \theta' + \sin \theta \sin \theta' \cos(\phi - \phi')$$

and $P_n^{(\lambda)}(x)$ is the well-known ultraspherical polynomial.

We write

$$f(\omega) = \frac{\Gamma(\frac{1}{2}) \Gamma(\frac{1}{2} + \lambda)}{\Gamma(\lambda) 2\pi (\sin \omega)^{2\lambda}} \int_{c\omega} \frac{f(\theta', \phi') \sin \theta' d\theta' d\phi'}{[\sin^2 \theta' \sin^2 (\phi - \phi')]^{(1-2\lambda)/2}}$$

$$F(\omega) = f(\omega) (\sin \omega)^{2\lambda-1} \tag{2.2}$$

The integral in (2.2) is taken along the small circle whose centre is (θ, ϕ) on the sphere and whose curvilinear radius is ω .

The series (2.1) now reduces to

$$f(\theta, \phi) \sim \frac{\Gamma(\lambda)}{\Gamma(\frac{1}{2}) \Gamma(\frac{1}{2} + \lambda)} \sum_{n=0}^{\infty} (n + \lambda) \int_0^{\pi} f(\omega) \sin^{2\lambda} \omega P_n^{(\lambda)}(\cos \omega) d\omega$$

$$\equiv \sum_{n=0}^{\infty} a_n(\theta, \phi) \tag{2.3}$$

We prove the following theorem:

Theorem — If $0 < \lambda < \alpha < \frac{1}{2}$ and $0 < n < \frac{1}{2}$

$$F(\omega) \in \text{lip}(\eta) \tag{2.4}$$

then the series (2.1) is summable $|C, \alpha|$ at a point (θ, ϕ) on the sphere.

3. PROOF OF THE THEOREM

Let G_n^α the n th Cesàro mean of order α of the sequence $\{na_n(\theta, \phi)\}$; to prove the theorem we have to show only the convergence of $\sum_{n=1}^{\infty} n^{-1} |G_n^\alpha|$. In the proof of the theorem we choose $\gamma_n = n^{-2/(n+2)}$.

Now

$$G_n^\alpha = \frac{\Gamma(\lambda)}{\Gamma(\frac{1}{2}) \Gamma(\frac{1}{2} + \lambda)} \int_0^{\pi} F(\omega) \left(\frac{1}{A_n^\alpha} \sum_{\nu=0}^n A_{n-\nu}^{\alpha-1} (\nu + \lambda) \nu P_\nu^{(\lambda)}(\cos \omega) \sin \omega \right) d\omega$$

$$= A \int_0^{\pi} F(\omega) \left(\frac{1}{A_n^\alpha} \sum_{\nu=0}^n A_{n-\nu}^{\alpha-1} (\nu + \lambda) \nu P_\nu^{(\lambda)}(\cos \omega) \sin \omega \right) d\omega \tag{3.1}$$

where A is a constant independent of n and ν not necessarily the same at each occurrence.

Hence

$$G_n^\alpha = A \left[\int_0^{\gamma_n} + \int_{\gamma_n}^{\pi-n^{-1}} + \int_{\pi-n^{-1}}^{\pi} \right]. \tag{3.2}$$

Therefore, we have

$$\sum n^{-1} |G_n^\alpha| \leq \sum n^{-1} \{ |I_1| + |I_2| + |I_3| \}$$

where

$$\begin{aligned} I_1 &= A \int_0^{\gamma_n} F(\omega) \left\{ \frac{1}{A_n^\alpha} \sum_{\nu=0}^n A_{n-\nu}^{\alpha-1} \nu (\nu + \lambda) P_\nu^{(\lambda)}(\cos \omega) \sin \omega \right\} d\omega \\ &= O(n^{2\lambda-1}). \end{aligned} \tag{see Szegő 1959}$$

$$\begin{aligned} \sum_{n=1}^m n^{-1} |I_1| &= O \left[\sum_{n=1}^m n^{2\lambda-2} \right] \\ &= O(1). \end{aligned} \tag{3.3}$$

Next

$$\begin{aligned} I_3 &= O \left\{ \int_{\pi-(1/n)}^{\pi} \left[\sum_{\nu=0}^{n-1} n^{-1} \nu^{2\lambda} \sin \omega + n n^{2\lambda-1} \sin \omega \right] d\omega \right\} \\ \sum_{n=1}^m n^{-1} |I_3| &= O \left[\sum_{n=1}^m n^{-1} \left\{ \sum_{\nu=0}^{n-1} n^{-2} \nu^{2\lambda} + n^{2\lambda-1} \right\} \right] \\ &= O \left(\sum_{n=1}^m n^{2\lambda-2} \right) \\ &= O(1). \end{aligned} \tag{see Gupta 1958} \tag{3.4}$$

Finally, we consider I_2 . Using the order estimates given by Gupta (1958), we get the following:

$$\begin{aligned} I_2 &= A \int_{\gamma_n}^{\pi-n^{-1}} \sum_{\nu=0}^{n-1} \{ R(\Phi(\omega) \omega^{-\lambda} e^{i(2n+2\lambda+1)\omega/2}) \} F(\omega) d\omega \\ &+ \int_{\gamma_n}^{\pi-n^{-1}} \sum_{\nu=0}^{n-1} \{ O(n^{-2} (\sin \omega)^{-\lambda-1}) + O(n^{-1} \nu^{-\lambda} (\sin \omega)^{-\lambda} \omega^{-1}) \\ &+ O(n^{-1} \nu^{-\lambda-1} (\sin \omega)^{-\lambda-1}) + O(n^{-1} \nu^{-\lambda} \omega^{-\lambda} (\sin \omega)^{-1}) \} F(\omega) d\omega \\ &+ \int_{\gamma_n}^{\pi-n^{-1}} n [R(\psi(\omega) \omega^{-\lambda} e^{i(2n+2\lambda+1)\omega/2})] F(\omega) d\omega \end{aligned}$$

$$\begin{aligned}
 & + \int_{\gamma_n}^{\pi-n^{-1}} n \{ O(n^{\lambda-2}\omega^{-1} (\sin \omega)^{-\lambda}) \\
 & + O(n^{-2} (\sin \omega)^{-\lambda-1}) + O(n^{\lambda-2}\omega^{-\lambda} (\sin \omega)^{-1}) \} F(\omega) d\omega \\
 & = I_{2.1} + I_{2.2} + I_{2.3} + I_{2.4} + I_{2.5} + I_{2.6} + I_{2.7} + I_{2.8} + I_{2.9}, \text{ say.}
 \end{aligned}$$

Now

$$\begin{aligned}
 I_{2.2} & = O \left[(n^{-\eta-2}) \sum_{\nu=0}^{n-1} \int_{\gamma_n}^{\pi/2} \omega^{-\lambda-1} d\omega + \int_{\pi/2}^{\pi-n^{-1}} (\sin \omega)^{-\lambda-1} d\omega \right] \\
 \sum_{n=1}^m n^{-1} | I_{2.2} | & = O \left[\sum_{n=1}^m n^{-\eta-2+\lambda} \right] \\
 & = O(1) \qquad \dots(3.5)
 \end{aligned}$$

$$\begin{aligned}
 I_{2.3} & = O \left[(n^{-\eta-1}) \sum_{\nu=0}^{n-1} \nu^{-\lambda} \left\{ \int_{\gamma_n}^{\pi/2} \omega^{-1-\lambda} d\omega + \int_{\pi/2}^{\pi-n^{-1}} \omega^{-1} (\sin \omega)^{-\lambda} d\omega \right\} \right] \\
 \sum_{n=1}^m n^{-1} | I_{2.3} | & = O \left[\sum_{n=1}^m n^{-\eta-1} \right] \\
 & = O(1) \qquad \dots(3.6)
 \end{aligned}$$

$$\begin{aligned}
 I_{2.4} & = O \left[(n^{-\eta-1}) \sum_{\nu=0}^{n-1} \nu^{-\lambda-1} \left\{ \int_{\gamma_n}^{\pi/2} \omega^{-\lambda-1} d\omega + \int_{\pi/2}^{\pi-n^{-1}} (\sin \omega)^{-\lambda-1} d\omega \right\} \right] \\
 \sum_{n=1}^m n^{-1} | I_{2.4} | & = \left[\sum_{n=1}^m n^{-\eta-2} \right] \\
 & = O(1) \qquad \dots(3.7)
 \end{aligned}$$

$$\begin{aligned}
 I_{2.5} & = O \left[(n^{-\eta-1}) \sum_{\nu=0}^{n-1} \nu^{-\lambda} \left\{ \int_{\gamma_n}^{\pi/2} \omega^{-\lambda-1} d\omega + \int_{\pi/2}^{\pi-n^{-1}} (\sin \omega)^{-1} d\omega \right\} \right] \\
 \sum_{n=1}^m n^{-1} | I_{2.5} | & = O \left[\sum_{n=1}^m n^{-\eta-1} \right] \\
 & = O(1). \qquad \dots(3.8)
 \end{aligned}$$

Again

$$\begin{aligned}
 I_{2.7} & = O \left[(n^{-\eta+\lambda-1}) \left\{ \int_{\gamma_n}^{\pi/2} \omega^{-\lambda-1} d\omega + \int_{\pi/2}^{\pi-n^{-1}} (\sin \omega)^{-\lambda} d\omega \right\} \right] \\
 \sum_{n=1}^m n^{-1} | I_{2.7} | & = O \left[\sum_{n=1}^m n^{-\eta+2\lambda-2} \right] \\
 & = O(1) \qquad \dots(3.9)
 \end{aligned}$$

$$\begin{aligned}
 I_{2\cdot 8} &= O[(n^{-\eta-1}) \{ \int_{\Upsilon_n}^{\pi/2} \omega^{-\lambda-1} d\omega + \int_{\pi/2}^{\pi-n^{-1}} (\sin \omega)^{-\lambda-1} d\omega \}] \\
 &+ \sum_{n=1}^m n^{-1} | I_{2\cdot 8} | = O[\sum_{n=1}^m n^{\lambda-2-\eta}] \\
 &= O(1) \qquad \dots(3.10)
 \end{aligned}$$

$$\begin{aligned}
 I_{2\cdot 9} &= O[(n^{-\eta+\lambda-1}) \{ \int_{\Upsilon_n}^{\pi/2} \omega^{-\lambda-1} d\omega + \int_{\pi/2}^{\pi-n^{-1}} \omega^{-\lambda} (\sin \omega)^{-1} d\omega \}] \\
 \sum_{n=1}^m n^{-1} | I_{2\cdot 9} | &= O[\sum_{n=1}^m n^{2\lambda-2-\eta}] \\
 &= O(1). \qquad \dots(3.11)
 \end{aligned}$$

Also the integral $I_{2\cdot 1}$,

$$\begin{aligned}
 &\int_{\Upsilon_n}^{\pi-n^{-1}} \omega^{-\lambda} \Phi(\omega) F(\omega) e^{i(2n-2\lambda+1)\omega/2} d\omega \\
 &= \frac{1}{2} \{ \int_{\Upsilon_n}^{\pi-n^{-1}} \omega^{-\lambda} \Phi(\omega) F(\omega) e^{i(2n+2\lambda+1)\omega/2} d\omega \\
 &\quad - \int_{\Upsilon_n-\mu_n}^{\pi-\mu_n-n^{-1}} (\omega + \mu_n)^{-\lambda} \Phi(\omega + \mu_n) F(\omega + \mu_n) e^{i(2n+2\lambda+1)\omega/2} d\omega \}
 \end{aligned}$$

and this is less in modulus than

$$\begin{aligned}
 &\frac{1}{2} [\int_{\Upsilon_n-\mu_n}^{\Upsilon_n} | F(\omega + \mu_n) \Phi(\omega + \mu_n) (\omega + \mu_n)^{-\lambda} | d\omega \\
 &\quad + \int_{\pi-n^{-1}-\mu_n}^{\pi-n^{-1}} | F(\omega) \Phi(\omega) \omega^{-\lambda} | d\omega \\
 &\quad + \int_{\Upsilon_n}^{\pi-n^{-1}-\mu_n} | F(\omega + \mu_n) - F(\omega) | | \Phi(\omega + \mu_n) | (\omega + \mu_n)^{-\lambda} d\omega \\
 &\quad + \int_{\Upsilon_n}^{\pi-n^{-1}-\mu_n} | \Phi(\omega + \mu_n) - \Phi(\omega) | | F(\omega) | (\omega + \mu_n)^{-\lambda} d\omega \\
 &\quad + \int_{\Upsilon_n}^{\pi-\mu_n-n^{-1}} | (\omega + \mu_n)^{-\lambda} - \omega^{-\lambda} | | F(\omega) | | \Phi(\omega) | d\omega] \\
 &= \frac{1}{2} [J_1 + J_2 + J_3 + J_4 + J_5], \text{ say.}
 \end{aligned}$$

Now

$$\begin{aligned}
 J_1 &= O(\mu_n n^{\lambda-\alpha} \gamma_n^{1-\alpha} \gamma_n^{-\lambda}) \\
 &= O(n^{2\lambda-2}) \qquad \dots(3.12)
 \end{aligned}$$

$$\begin{aligned}
 J_2 &= O(\mu_n n^{\lambda-\alpha}) \\
 &= O(n^{\lambda-\alpha-1}) \qquad \dots(3.13)
 \end{aligned}$$

$$\begin{aligned}
 J_3 &= O((\mu_n)^n n^{\lambda-\alpha} \gamma_n^{1-\alpha} \gamma_n^{-\lambda+1}) \\
 &= O(n^{-\tau+2\lambda-2}) \qquad \dots(3.14)
 \end{aligned}$$

$$\begin{aligned}
 J_4 &= O(n^{\lambda-2} \log n \int_{\gamma_n}^{\pi} \omega^{-1} \omega^n \omega^{-\lambda} d\omega) \\
 &= O(n^{\lambda-2} \log n) \qquad \dots(3.15)
 \end{aligned}$$

$$\begin{aligned}
 J_5 &= O(\mu_n \int_{\gamma_n}^{\pi} \omega^{-\lambda-1} n^{\lambda-\alpha} \omega^{1-\alpha} d\omega) \\
 &= O(n^2 \lambda^{-2}). \qquad \dots(3.16)
 \end{aligned}$$

Hence

$$\begin{aligned}
 \sum_{n=1}^m n^{-1} |I_{2,1}| &\leq \sum_{n=1}^m n^{-1} \sum_{v=0}^{n-1} \{J_1 + J_2 + J_3 + J_4 + J_5\} \\
 &= \Sigma_1 + \Sigma_2 + \Sigma_3 + \Sigma_4 + \Sigma_5, \text{ say.} \qquad \dots(3.17)
 \end{aligned}$$

Now

$$\begin{aligned}
 \Sigma_1 &= O\left\{ \sum_{n=1}^m n^{-1} \sum_{v=0}^{n-1} n^{2\lambda-2} \right\} \\
 &= O(1). \qquad \dots(3.18)
 \end{aligned}$$

$\Sigma_2, \Sigma_3, \Sigma_4, \Sigma_5$ can be disposed of in the same way as Σ_1 ; therefore, we get

$$I_{2,1} = O(1). \qquad \dots(3.19)$$

$I_{2,6}$ can be disposed of as $I_{2,1}$.

Thus the theorem is completely established.

ACKNOWLEDGEMENT

The authors are thankful to Dr G. S. Pandey and the referee for their suggestions during the preparation of the present form of this paper.

REFERENCES

Szegő, G. (1959). Orthogonal Polynomials. Am. Math. Soc. Colloq. Publ., New York, Vol. XXIII, p. 166.
 Gupta, D. P. (1958). On the Cesàro summability of ultraspherical series (2). *Proc. natn. Inst. Sci. India*, A24, 419-40.